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<ffroot>
Router#

show ip ospf database router 172.16.32.2

Adv Router is not-reachable

LS age: 418

Options: (No TOS-capability, DC)
LS Type: Router Links

Link State ID: 172.16.32.2

Advertising Router: 172.16.32.2

LS Seq Number: 80000002
Checksum: OxFA63
Length: 60

Number of Links: 3
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<{froot>

interface Loopback0

ip address 172.16.33.1 255.255.255.255|1 nterface Loopback0
| ip address 172.16.30.1 255.255.255.255

!
interface Seriall/0

ip address 172.16.32.2 255.255.255.0
clockrate 64000

interface Serial2
ip address 172.16.32.1 255.255.255.0

i p ospf network broadcast !
router ospf 20
! network 172.16.0.0 0.0.255.255 area O
router ospf 20
network 172.16.0.0 0.0.255.255 area 0

<#root>
R4-4K(4)#
show i p ospf interface serial 2

Serial2 is up, line protocol is up
Internet Address 172.16.32.1/24, Area O
Process ID 20, Router ID 172.16.33.1,

Net wor k Type BROADCAST

, Cost: 64
Transmit Delay is 1 sec, State DR, Priority 1
Designated Router (ID) 172.16.33.1, Interface address 172.16.32.1
Backup Designated router (ID) 172.16.32.2, Interface address 172.16.32.2
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello due in 00:00:08


https://cway.cisco.com/cli/

Neighbor Count is 1, Adjacent neighbor count 1is 1
Adjacent with neighbor 172.16.32.2 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

R1-7010(5)#
show i p ospf interface serial 1/0

Seriall/0 is up, Tine protocol 1is up
Internet Address 172.16.32.2/24, Area 0
Process ID 20, Router ID 172.16.32.2,

Net wor k Type PO NT_TO PO NT

, Cost: 64
Transmit Delay is 1 sec, State POINT_TO_POINT,
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello due in 00:00:02
Neighbor Count is 1, Adjacent neighbor count 1is 1
Adjacent with neighbor 172.16.33.1
Suppress hello for 0 neighbor(s)
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<#root>
R4-4K(4)#

show i p ospf database router 172.16.32.2

Adv Router is not-reachable

LS age: 418

Options: (No TOS-capability, DO)
LS Type: Router Links

Link State ID: 172.16.32.2

Advertising Router

: 172.16.32.2
LS Seq Number: 80000002
Checksum: OxFA63
Length: 60
Number of Links: 3

Li nk connected to: another Router (point-to-point)

(Link ID) Neighboring Router ID: 172.16.33.1
(Link Data) Router Interface address: 172.16.32.2
Number of TOS metrics: 0

TOS 0 Metrics: 64

Link connected to: a Stub Network
(Link ID) Network/subnet number: 172.16.32.0
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(Link Data) Network Mask: 255.255.255.0
Number of TOS metrics: 0
TOS 0 Metrics: 64

R1-7010(5)#

show i p ospf database router 172.16.33.1

Adv Router is not-reachable

LS age: 357

Options: (No TOS-capability, DC)
LS Type: Router Links

Link State ID: 172.16.33.1

Advertising Router: 172.16.33.1

LS Seq Number: 8000000A
Checksum: OxD4AA
Length: 48

Number of Links: 2

Li nk connected to: a Transit Network

(Link ID) Designated Router address: 172.16.32.1
(Link Data) Router Interface address: 172.16.32.1
Number of TOS metrics: 0

TOS O Metrics: 64
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<#root>
R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks
C 172.16.32.0/24 is directly connected, Seriall/0
C 172.16.30.1/32 is directly connected, Loopback0
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<ffroot>
R4-4K (4)#

configure term na

R4-4K(4) (config)#

interface serial 2

R4-4K(4) (config-if)#

no i p ospf network broadcast
R4-4K(4) (config-if)#

end

R4-4K(4)#
show i p ospf interface serial 2

Serial2 is up, Tline protocol 1is up
Internet Address 172.16.32.1/24, Area O
Process ID 20, Router ID 172.16.33.1,

Net wor k Type PO NT_TO_ PO NT

, Cost: 64
Transmit Delay 1is 1 sec, State POINT_TO_POINT,
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello due in 00:00:04
Neighbor Count is 1, Adjacent neighbor count is 1
Adjacent with neighbor 172.16.32.2
Suppress hello for 0 neighbor(s)
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R4-4K R1-7010

interface loopback 0

interface loopback 0 ip address 172.16.30.1 255.255.255.255
ip address 172.16.35.1 255.255.255.255|!
! interface Seriall/0

interface Serial2 ip address 172.16.32.2 255.255.255.0
ip address 172.16.29.1 255.255.255.0 clockrate 64000

I I
interface Serial3 interface Seriall/1l

ip address 172.16.32.1 255.255.255.0 ip address 172.16.29.2 255.255.255.0
! clockrate 38400

router ospf 20 !
network 172.16.0.0 0.0.255.255 area 0 |router ospf 20

network 172.16.0.0 0.0.255.255 area 0
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<tfroot>

R4-4K(4)#

show i p ospf nei ghbor

Neighbor ID Pri State Dead Time Address Interface
172.16.32.2 1 FULL/ - 00:00:37 172.16.32.2 Serial2
172.16.32.2 1 FULL/ - 00:00:31 172.16.29.2 Serial3
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<#root>
R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks
C 172.16.32.0/24 is directly connected, Seriall/0
C 172.16.29.0/24 is directly connected, Seriall/l
C 172.16.30.1/32 is directly connected, Loopback0
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R4-4K R1-7010

interface loopback 0
interface loopback 0 ip address 172.16.30.1 255.255.255.255
ip address 172.16.35.1 255.255.255.255|!
! interface Seriall/0
interface Serial2 ip address 172.16.32.2 255.255.255.0
ip address 172.16.32.1 255.255.255.0 clockrate 64000
I I
interface Serial3 interface Seriall/1l
ip address 172.16.29.1 255.255.255.0 ip address 172.16.29.2 255.255.255.0
! clockrate 38400
router ospf 20 !
network 172.16.0.0 0.0.255.255 area 0 |router ospf 20
network 172.16.0.0 0.0.255.255 area 0

<#root>
R4-4K(4)#

show i p ospf nei ghbor

Neighbor ID Pri State Dead Time Address Interface
172.16.32.2 1 FULL/ - 00:00:36 172.16.32.2 Serial2
172.16.32.2 1 FULL/ - 00:00:39 172.16.29.2 Serial3

O|A| Serial 2 RIE{m|O|A 9| ZHIE UIOIH F=ATF ZAIELICH B2 2t*E B O[S0l A&LICH

<#root>
R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 4 subnets, 2 masks
C 172.16.32.0/24 is directly connected, Seriall/0

@) 172.16.35.1/32 [110/65] via 172.16.32.1, 00:03:12, Seriall1/0

[110/65] via 172.16.29.1, 00:03:12, Serial1/1

C 172.16.29.0/24 is directly connected, Seriall/1l
C 172.16.30.1/32 is directly connected, Loopback0
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ip unnumbered
172.16.35.1/32 o © -~ Loopback D 17216.32.2024 o= -
LoD '
R4-4K R1-7010
R4-4K R1-7010

<{froot>

interface LoopbackO

interface Loopback0
intertace toopbac ip address 172.16.30.1 255.255.255.255

ip address 172.16.35.1 255.255.255.255|
| !
. interface Seriall/0

ip address 172.16.32.2 255.255.255.0

clockrate 64000

interface Serial2

i p unnunbered Loopback0 !
router ospf 20

router ospf 20 network 172.16.0.0 0.0.255.255 area 0
network 172.16.0.0 0.0.255.255 area 0

<{froot>
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R4-4K(4)#
show i nterface serial 2

Serial2 is up, line protocol is up
Hardware is cxBus Serial

Interface is unnunbered. Using address of LoopbackO

(172.16.35.1)

R1-7010(5)#
show interface serial 1/0

Seriall/0 is up, Tine protocol 1is up
Hardware is cxBus Serial

Internet address is 172.16.32.2/24

0| &30 M= R4-4K Serial 2 QIE{H| 0| A 9| B15 7} LoopbackO(Loopback0 172.16.35.1 =24 At
)2 2 X|HE|X| b2 #H R1-70102| Serial 1/02 H3E 7} X|HE QIE{mo|AlL|CH

<#root>
R4-4K(4)#
show i p ospf interface serial 2

Serial2 is up, line protocol is up
Internet Address

0.0.0.0/ 24

, Area 0
Process ID 20, Router ID 172.16.35.1,

Net wor k Type

POINT_TO_POINT, Cost: 64

Transmit Delay is 1 sec, State POINT_TO_POINT,

Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello due in 00:00:02

Neighbor Count is 1, Adjacent neighbor count 1is 1
Adjacent with neighbor 172.16.32.2

Suppress hello for 0 neighbor(s)

R1-7010(5)#
show i p ospf interface serial 1/0

Seriall/0 is up, Tine protocol 1is up
Internet Address 172.16.32.2/24, Area 0
Process ID 20, Router ID 172.16.32.2,

Net wor k Type

POINT_TO_POINT, Cost: 64
Transmit Delay 1is 1 sec, State POINT_TO_POINT,
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5



Hello due in 00:00:02

Neighbor Count is 1, Adjacent neighbor count 1is 1
Adjacent with neighbor 172.16.33.1

Suppress hello for 0 neighbor(s)

UM AMHESZO| F F2 2F HE/T FELE point-to- point°
CHE &2 M3 71 glem, o= ofzfet 2ol Hlo|E{H|ojx0f =
<#root>

R4-4K(4)#

show i p ospf database router 172.16.30.1

OSPF Router with ID (172.16.35.1) (Process ID 20)
Router Link States (Area 0)
LS age: 202
Options: (No TOS-capability, DC)
LS Type: Router Links
Link State ID: 172.16.30.1
Advertising Router: 172.16.30.1
LS Seq Number: 80000002
Checksum: 0xC899
Length: 60
Number of Links: 3

Link connected to: another Router (point-to-point)

(Link ID) Neighboring Router ID: 172.16.35.1
(Link Data) Router Interface address: 172.16.32.2
Number of TOS metrics: 0
TOS 0 Metrics: 64

Link connected to: a Stub Network
(Link ID) Network/subnet number: 172.16.32.0
(Link Data) Network Mask: 255.255.255.0
Number of TOS metrics: 0
TOS 0 Metrics: 64

Link connected to: a Stub Network
(Link ID) Network/subnet number: 172.16.30.1
(Link Data) Network Mask: 255.255.255.255
Number of TOS metrics: 0
TOS 0 Metrics: 1

R1-7010(5)#

show i p ospf database router 172.16.35.1

OSPF Router with ID (172.16.30.1) (Process ID 20)
Router Link States (Area 0)

Adv Router is not-reachable
LS age: 396
Options: (No TOS-capability, DC)
LS Type: Router Links
Link State ID: 172.16.35.1
Advertising Router: 172.16.35.1
LS Seq Number: 80000003
Checksum: OxBEAl
Length: 48
Number of Links: 2
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Link connected to: another Router (point-to-point)
(Link ID) Neighboring Router ID: 172.16.30.1

(Link Data) Router Interface address: 0.0.0.3

l--- In case of an unnumbered 1ink we use MIB-II IfIndex value which usually starts with 0.

Number of TOS metrics: 0
TOS O Metrics: 64

Link connected to: a Stub Network
(Link ID) Network/subnet number: 172.16.35.1
(Link Data) Network Mask: 255.255.255.255
Number of TOS metrics: 0
TOS 0 Metrics: 1

R1-7010(5)#

R1-70102 Y QIE{m|O|A FAT} ZEEl Link Data ZE7 r A O| ZQIE-FE_ZQIE &304 Cj
3t LSAS MAM5H= HHH R4-4KE MIB-II Ifindex Z£O| Z&El Link Data ZE7} 9= S8 2130
CHS LSAS MA8HLICHREC 2328). O] A 8t 213 MEH ClOIE{HI Ol A0 2UX|7I HEEE 2

et Y ElolEol =7t MRIxIX| ef&LICH

<#root>
R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks

C 172.16.32.0/24 is directly connected, Seriall/0
C 172.16.30.1/32 is directly connected, Loopback0
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<#root>

R4-4K(4)#

configure term na

R4-4K(4) (config)#
interface serial 2

R4-4K(4) (config-if)#

no i p unnunbered | oopback 0

R4-4K(4) (config-if)#


https://datatracker.ietf.org/doc/html/rfc2328

i p address 172.16.32.1 255.255.255.0

R4-4K(4))#
show i p ospf interface serial 2

Serial2 is up, line protocol is up
Internet Address 172.16.32.1/24, Area O
Process ID 20, Router ID 172.16.33.1,

Net wor k Type

POINT_TO_POINT, Cost: 64

Transmit Delay 1is 1 sec, State POINT_TO_POINT,

Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello due in 00:00:02

Neighbor Count is 1, Adjacent neighbor count is 1
Adjacent with neighbor 172.16.32.2

Suppress hello for 0 neighbor(s)

R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks

C 172.16.32.0/24 is directly connected, Seriall/0
O 172.16.33.1/32 [110/65] via 172.16.32.1, 00:03:08, Seriall/0
C 172.16.30.1/32 is directly connected, Loopback0
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R3-4K

10.10.10.0:24

Rd4-4K R9-2500

R9-2500

interface Loopback0

ip address 10.50.50.50 255.255.255.255

I
interface Serial0

ip address 10.10.10.5 255.255.255.0
encapsulation frame-relay

ip ospf network broadcast

frame-relay map ip 10.10.10.6 102 broadcast
frame-relay map ip 10.10.10.7 101 broadcast
!
router ospf 10
network 10.10.1
network 10.50.5

255 area 0

0.0 0.0.0.
0.0 0.0.0.255 area O




R4-4K

interface Loopback0

ip address 10.70.70.70 255.255.255.255

|

interface Serial0

ip address 10.10.10.7 255.255.255.0
encapsulation frame-relay

ip ospf network broadcast

frame-relay map ip 10.10.10.5 101 broadcast
frame-relay map ip 10.10.10.6 100 broadcast
|

router ospf 10

network 10.10.10.0 0.0.0.255 area 0O

network 10.70.70.0 0.0.0.255 area 0O

R3-4K

interface Loopback0
ip address 10.60.60.60 255.255.255.255
!
interface Serial0
no ip address
encapsulation frame-relay
|
interface Serial0.1 multipoint
ip address 10.10.10.6 255.255.255.0
ip ospf network broadcast
frame-relay map ip 10.10.10.5 102 broadcast
frame-relay map ip 10.10.10.7 100 broadcast
!
router ospf 10
network 10.10.1
network 10.60.6

255 area 0

0.0 0.0.0.
0.0 0.0.0.255 area O

Frame Relay 22 E7} 25| H A El= & Frame RelayE 88t EEEINAE D2 M2 &=
SgrLict. PVC(Permanent Virtual Circuit)7t &4 €l Z9 OSPF G|O|E{H[0| A0 2X|7| & Mg =
A2, 0] AL Adv Router not reachable(adv 2t 217 271 siAlxi7 A EIL|CH
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<ffroot>
R9-2500(3)#

show i p ospf database router

OSPF Router with ID (10.50.50.50) (Process ID 10)
Router Link States (Area 0)
LS age: 148
Options: (No TOS-capability, DC)
LS Type: Router Links
Link State ID: 10.50.50.50
Advertising Router: 10.50.50.50
LS Seq Number: 8000000B
Checksum: 0x55A
Length: 48
Number of Links: 2

Link connected to: a Stub Network

(Link ID) Network/subnet number: 10.10.10.0
(Link Data) Network Mask: 255.255.255.0
Number of TOS metrics: 0

TOS 0 Metrics: 64

Link connected to: a Stub Network

(Link ID) Network/subnet number: 10.50.50.50
(Link Data) Network Mask: 255.255.255.255
Number of TOS metrics: 0

TOS 0 Metrics: 1

Adv Router is not-reachable

LS age: 1081
Options: (No TOS-capability, DC)
LS Type: Router Links

Link State ID: 10.60.60.60
Advertising Router: 10.60.60.60
LS Seq Number: 80000006
Checksum: 0x4F72

Length: 48

Number of Links: 2

Link connected to: a Stub Network

(Link ID) Network/subnet number: 10.60.60.60
(Link Data) Network Mask: 255.255.255.255
Number of TOS metrics: 0

TOS 0 Metrics: 1

Link connected to: a Transit Network

(Link ID) Designated Router address: 10.10.10.7
(Link Data) Router Interface address: 10.10.10.6
Number of TOS metrics: 0

TOS 0 Metrics: 64

Adv Router is not-reachable

LS age: 306



Options: (No TOS-capability, DC)
LS Type: Router Links

Link State ID: 10.70.70.70
Advertising Router: 10.70.70.70
LS Seq Number: 80000007
Checksum: 0xC185

Length: 48

Number of Links: 2

Link connected to: a Stub Network

(Link ID) Network/subnet number: 10.70.70.70
(Link Data) Network Mask: 255.255.255.255
Number of TOS metrics: 0

TOS 0 Metrics: 1

Link connected to: a Transit Network

(Link ID) Designated Router address: 10.10.10.7
(Link Data) Router Interface address: 10.10.10.7
Number of TOS metrics: 0

TOS 0 Metrics: 64

o| Ex|of cHet REMIEH LIE 2 NBMA 2! Broadcast Mode over Frame Relayo| A OSPF x| &
ZEHAAIL.

olg 6: O H2E S5 L7 MY Fao
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Internet
10.7.7.0/24
Non-OSPF
10.1.1.0/24 e
R2507 Area0 R2504
R2507

interface GigabitEthernet0/0

ip address 10.1.1.1 255.255.255.0
!
interface GigabitEthernet0/1

ip address 10.7.7.1 255.255.255.0
|
router ospf 1

network 10.1.1.1 0.0.0.0 area 0
default-information originate metric 20
I

ip route 0.0.0.0 0.0.0.0 10.7.7.2

R2504

10.22.88.0/24 10.44.66.0/24

Areail Areal
R2515
10.3.4.0/24
Areal
R2513
EIGRP
Only

10.200.1.0/24
Mon-OSPF



interface GigabitEthernet0/0

ip address 10.1.1.2 255.255.255.0
!
interface GigabitEthernet0/1

ip address 10.3.4.2 255.255.255.0
|
router ospf 1

network 10.1.1. 0.0.255 area 0
network 10.0.0. 255.255.255 area 1
area 1 range 10.0.0.0 255.0.0.0

[ ]

0.
0.

R2515

interface GigabitEthernet0/0

ip address 10.3.4.3 255.255.255.0

!
interface GigabitEthernet0/2

ip address 10.44.66.3 255.255.255.0

!
interface GigabitEthernet0/3

ip address 10.22.88.3 255.255.255.0

!

router ospf 1

redistribute eigrp 1 metric 20 subnets
network 0.0.0.0 255.255.255.255 area 1
!

router eigrp 1

network 10.3.4.0 0.0.0.255

R2513

interface GigabitEthernet0/0

ip address 10.3.4.4 255.255.255.0
!
interface GigabitEthernet0/1

ip address 10.200.1.4 255.255.255.0
!

router eigrp 1

network 10.3.4.0 0.0.0.
network 10.200.1.0 0.0.

255
0.255

<tfroot>
R25074

show i p ospf database external 10.200.1.0

OSPF Router with ID (10.7.7.1) (Process ID 1)



Type-5 AS External Link States

LS age: 954
Options: (No TOS-capability, DC, Upward)
LS Type: AS External Link
Link State ID: 10.200.1.0 (External Network Number )
Advertising Router: 10.44.66.3
LS Seq Number: 80000007
Checksum: Ox46EF
Length: 36
Network Mask: /24
Metric Type: 2 (Larger than any 1link state path)
MTID: O
Metric: 20
Forward Address:

10.3. 4.4

External Route Tag: 0O

R25072] HIO|E4H1|0|A01|“1020010/240| JX|8F B2 E Eo|E0| MX|E|X| &U&LICE
10.3.4.4= OSPF 2|8 B2 E Sl & &|7| WELICE

<#root>
R2507#
show ip route 10.3.4.4
Routing entry for
10.3.4.0/ 24
Known via "ospf 1", distance 110, metric 20,
type extern 2

, forward metric 70
Redistributing via ospf 1
Last update from 10.1.1.2 on GigabitEthernet0/0, 00:00:40 ago
Routing Descriptor Blocks:
* 10.1.1.2, from 10.44.66.3, 00:00:40 ago, via GigabitEthernet0/0
Route metric 1is 20, traffic share count is 1
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https://tools.cisco.com/bugsearch/bug/CSCdp72526

R2507#
show ip route 10.3.4.4

Routing entry for

10.0.0.0/8

Known via "ospf 1", distance 110, metric 2,

type inter area

Last update from 10.1.1.2 on GigabitEthernet0/0, 00:01:02 ago

Routing Descriptor Blocks:

* 10.1.1.2, from 10.3.4.2, 00:01:02 ago, via GigabitEthernet0/0
Route metric 1is 2, traffic share count is 1

R2507#
show i p route

Codes: L - Tocal, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1 - OSPF external type 1, E2 - OSPF external type 2
i - IS-IS, su - IS-IS summary, L1 - IS-IS Tevel-1, L2 - IS-IS Tevel-2
ia - IS-IS dinter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route
+ - replicated route, % - next hop override, p - overrides from PfR

Gateway of last resort is 10.7.7.2 to network 0.0.0.0

S* 0.0.0.0/0 [1/0] via 10.7.7.2
10.0.0.0/8 is variably subnetted, 6 subnets, 3 masks
0 IA 10.0.0.0/8 [110/2] via 10.1.1.2, 00:01:41, GigabitEthernet0/0
C 10.1.1.0/24 1is directly connected, GigabitEthernet0/0
L 10.1.1.1/32 1is directly connected, GigabitEthernet0/0
C 10.7.7.0/24 1is directly connected, GigabitEthernet0/1
L 10.7.7.1/32 1is directly connected, GigabitEthernet0/1

O E2 10.200.1.0/24 [110/20] via 10.1.1.2, 03:30:47, G gabitEthernet0/0

TE FAE o7 28 B 2 4 I B9 OSPFE 2o T slojgol Y W28 UK o
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https://www.cisco.com/c/ko_kr/support/docs/ip/open-shortest-path-first-ospf/13682-10.html

~ 5110

2
172.16.32.0/24
Ri 4K R1-7010

R4-4K R1-7010

interface Loopback0

ip address 172.16.30.1 255.255.255.255
interface Loopback0 !
ip address 172.16.33.1 255.255.255.255|interface Seriall/0

! ip address 172.16.32.2 255.255.255.0
interface Serial2 clockrate 64000

ip address 172.16.32.1 255.255.255.0 (!
! router ospf 20

router ospf 20 network 172.16.0.0 0.0.255.255 area 0
network 172.16.0.0 0.0.255.255 area 0 | distribute-1ist 1 in

I
access-1list 1 permit 172.16.32.0. 0.0.0.255

AoIM = = UZ 0| R1-70100{ = distribute-list BE 0| /0] A2 2t E|0|E0f
172.16.32.0/24 24 HL|P x| = J&Lict 33 4E| T2 EZ0| M= distribute-list BES 2
LSAE ZE{@E + Ql&LICH LSAE 04%15| CllO|E{H| 0| A 01 UX|BF LSAE 2t T Elo|= 0l MR
Tx| k&Lt

<tfroot>
R1-7010(5)#

show i p ospf database router 172.16.33.1

LS age: 357

Options: (No TOS-capability, DC)
LS Type: Router Links

Link State ID: 172.16.33.1

Advertising Router: 172.16.33.1

LS Seq Number: 8000000A
Checksum: 0xD4AA
Length: 48

Number of Links: 3

Link connected to: another Router (point-to-point)
(Link 1 D) Neighboring Router ID: 172.16.32.2

(Link Data) Router Interface address: 172.16.32.1



Number of TOS metrics: 0O
TOS 0 Metrics: 64

R1-70109] distribute-list configuration W& 172.16.33.1/32 U ERI E ZE{RI5I 1 2! E| O]
o MELE "X[eHK| RSt S FLCt

<#root>
R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks
C 172.16.32.0/24 is directly connected, Seriall/0
C 172.16.30.1/32 is directly connected, Loopback0

a2 u

]

0l

o] 2x|E 512524 R1-70102 7431 ACL(Access Control List)0ol A 172.16.33.0/24
5to4 O| HERZ7I 2t & E|o|2 0| MX|=EI=F & LICtH

mjo
ol

<#root>

R1-7010(5)#

configure term na

R1-7010(5) (config)#

access-list 1 permt 172.16.33.0 0.0.0.255
R1-7010(5) (config)#

end

R1-7010(5)#
show i p access-list 1

Standard IP access 1list 1
permit 172.16.32.0, wildcard bits 0.0.0.255

permt 172.16.33.0, wildcard bits 0.0.0. 255

R1-7010(5)#
show i p route

172.16.0.0/16 is variably subnetted, 3 subnets, 2 masks
C 172.16.32.0/24 is directly connected, Seriall/0

@] 172.16.33.1/32 [110/65] via 172.16.32.1, 00:00:08, Seriall/0

C 172.16.30.1/32 is directly connected, Loopback0
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